October 12, 2016

Factor the following:

1) n? + 13n+42 2) 8xy? —24x7y*
(n+6)n+7) 8xy%(1 — 3x)
3) —42y° +49y°x + 14y2x2 4) n’EPn - 36
7y( 6y+7x+2x (n—|—3)(n—12)
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DECOMPOSITION

If there is a numerical coefficientin
front of x°, then we use a method for

factoring called DECOMPOSITION:.

\@2 +5x—-6
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Hard Trinomials

- has three terms with the form...

ax2+bx+c

- a hard trinomial has an"a" value not equal to 1.

- we use a method of decomposition to factor them.

DECOMPOSITION METHOD

_ here's how 1t goes... "What two numbers?"
Adds to get "b" e +———— = b
] e LA
Tiz +hx+¢

"n.n

Multiplies to get "a" times "¢

- once you find the two numbers, use them to break the
MIDDLE TERM into two pieces (decomposition).

- then, factor by grouping.
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cdlivaesctive

Global Actions

- Go to beginning
Go back one frame
Go forward one frame

$Go to end

Window Actions

Go to the first step [M4]
Go back one step [«]
Go forward one step [B=]
Go to the last step [PM]
Show an object
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Always check the following when you are asked to factor:

1) G.C.F ( # and Letters)
2) Simple Trinomial
3) Hard Trinomaal ...



Factor Completely!

1. 2X2+5x+3 g
44305 %
b Ki?mb& OX g § a4 e 3
axhr/@jﬁ X+
M:;Z o) Qe
x S §0(rer3)

to use decomposition!
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Factor Completely!-))- ;f \‘f;_ 1y ‘ . G\ CF

— N30 Q\S'\N\Plﬁﬂi
2. 10x3H13x-3

B R} Hﬂv\d \/P\
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Practice

Math 10B

Factoring: Hard Trinomials
Factor each completely.

1) 6m° +2m—8

3) 28+° — 1167 + 16
5) 37 +2r— 16

7) 8x° — 50x + 50
9) 4x° +17x +4
11) 45° —3p—10
13) o’ + 16uv + 647

15) x% — 11xy + 3057
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I\
2) 3x° — 16x+5

1) 2" -1 -9

6) 5a° —3a+45

8) 4n’ —15n+9

10) 4m” + 13m + 10
12) 8n° —26n—24
14) 2x% — 22 + 48)°

16) 4a” — 8ab — 125°

10
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